

# PROOF OF A MONOTONICITY CONJECTURE

XUN-TUAN SU

(Communicated by I. Pinelis)

*Abstract.* Bennett gave a generalization of Schur's theorem to study various moment-preserving transformations. In this paper, we confirm a monotonicity conjecture of Bennett which is related to the generalized Schur's theorem and Haber's inequality.

## 1. Introduction

Bennett [1] gave a generalization of Schur's theorem and utilized its special cases to study various moment-preserving transformations. See [6, p. 164] for the original form of Schur's theorem and [1] for the application of the generalized Schur's theorem to the study of moment sequences. Note that various moment sequences arise naturally in many branches of mathematics and have been extensively studied. The reader is referred to [10, 16] for the broad background of moment sequences and [7, 15] for the latest work on some moment sequences.

While considering one special case of the generalized Schur's theorem, Bennett proposed the following conjecture [1, p. 31]. To formulate Bennett's conjecture, define the generalized binomial coefficients by  $\binom{\lambda}{k} := \lambda(\lambda - 1) \cdots (\lambda - k + 1)/k!$ , where  $\lambda$  is a complex number and  $k$  is a nonnegative integer (see [4, p. 8]). Let  $n$  be a fixed nonnegative integer and  $x, y$  be fixed nonnegative real numbers. Define a univariate function by

$$F(a) = \frac{1}{\binom{n+2a-1}{n}} \sum_{k=0}^n \binom{k+a-1}{k} x^k \binom{n-k+a-1}{n-k} y^{n-k},$$

where  $a \in (0, +\infty)$ .

**CONJECTURE 1.** (proposed by Bennett [1, p. 31]) *The function  $F(a)$  decreases.*

The object of this paper is to confirm Conjecture 1 by showing the following result.

**THEOREM 1.** *The function  $F(a)$  strictly decreases for  $n \geq 2$ ,  $x \neq y$  and  $x, y > 0$ . Otherwise,  $F(a)$  is a constant function.*

In the next section, we give the proof of Theorem 1 by means of the symmetry and the unimodality of some binomial sequences. We end this paper with an interesting open problem and the connection between Theorem 1 and Haber's inequality.

*Mathematics subject classification* (2010): 05A20, 30E05.

*Keywords and phrases:* Symmetry, unimodality, Schur's theorem.

This work is supported by the National Natural Science Foundation of China (No. 11301069).

## 2. The proof of Theorem 1

We begin with preliminary terminologies. Let  $a_0, a_1, \dots, a_n$  be a sequence of real numbers. It is *unimodal* if  $a_0 \leq a_1 \leq \dots \leq a_{m-1} \leq a_m \geq a_{m+1} \geq \dots \geq a_n$  for some  $m$ . In other words, the sequence  $\{a_k\}_{0 \leq k \leq n}$  is unimodal if it does not increase strictly after a strict decrease (see [17]). The sequence  $\{a_k\}_{0 \leq k \leq n}$  is *symmetric* (or *palindromic*) with center of symmetry at  $n/2$  if  $a_k = a_{n-k}$  for all  $k$ .

A real polynomial  $f(t)$  is *unimodal* (resp. *symmetric*) if the sequence of its coefficients has the corresponding property. Symmetric and unimodal sequences or polynomials arise often in combinatorics, algebra, geometry, analysis and have a number of applications in computer science, probability and statistics. See [3, 11] for a broad overview of the subject.

The sequence of binomial coefficients  $\{\binom{n}{k}\}_{k=0}^n$  are probably the best-known example of symmetric and unimodal sequences. More precisely, the binomial sequence  $\{\binom{n}{k}\}_{k=0}^n$  is symmetric since  $\binom{n}{k} = \binom{n}{n-k}$ , and is (strictly) unimodal since  $\binom{n}{0} < \binom{n}{1} < \dots < \binom{n}{\lfloor n/2 \rfloor}$ , where  $\lfloor n/2 \rfloor$  stands for the largest integer not exceeding the center  $n/2$ . See [9, 12, 13, 14] for the results on the unimodality of various binomial sequences.

**LEMMA 1.** *Suppose that  $f(t) = \sum_{i=0}^n a_i t^i$  is a symmetric polynomial of degree  $n$  and that  $f(t) = (t-1)^2 h(t)$ . Then  $h(t)$  is also symmetric. In addition, if  $\sum_{i=0}^k a_i > 0$  for  $0 \leq k \leq \lfloor (n-2)/2 \rfloor$ , then  $h(t)$  is strictly unimodal and the coefficients of  $h(t)$  are all positive.*

*Proof.* It is known that if  $f(t)$  and  $g(t)$  are two symmetric polynomials and  $f(t) = g(t)h(t)$ , then  $h(t)$  is also symmetric ([14, Corollary 2.3(ii)]). Thus, the symmetry of  $h(t)$  in the lemma follows from that of  $(t-1)^2$ .

Next we will prove the second part of the lemma. It is trivially true when  $n = 2$ . For  $n = 3$ , suppose that  $h(t) = b_0 + b_1 t$ . Then  $b_0 = b_1 = a_0 = a_1 > 0$ , which yields the lemma.

For  $n \geq 4$ , assume that  $h(t) = \sum_{k=0}^{n-2} b_k t^k$ . In order to show the strict unimodality of  $h(t)$  and the positivity of  $b_k$ s when  $\sum_{i=0}^k a_i > 0$  for  $0 \leq k \leq \lfloor (n-2)/2 \rfloor$ , it suffices to prove that  $0 < b_0 < b_1 < \dots < b_{\lfloor (n-2)/2 \rfloor}$  due to the symmetry of  $h(t)$ . Indeed, note that  $b_k = \sum_{i=0}^k (k+1-i)a_i$  since

$$b_k = [t^k]h(t) = [t^k]f(t)(1-t)^{-2} = [t^k]f(t) \sum_{j \geq 0} \binom{1+j}{j} t^j = \sum_{i=0}^k (k+1-i)a_i.$$

Then  $b_k - b_{k-1} = \sum_{i=0}^k a_i > 0$  for  $1 \leq k \leq \lfloor (n-2)/2 \rfloor$  and  $b_0 = a_0 > 0$ , as desired.  $\square$

**LEMMA 2.** *Let  $a$  be a real number and  $n$  an integer ( $n \geq 2$ ). Then*

$$\sum_{k=0}^{\lfloor \frac{n-2}{2} \rfloor} \binom{k+a-1}{k} \binom{n-k+a-1}{n-k} = \begin{cases} \frac{1}{2} \binom{n+2a-1}{n} - \frac{\lfloor n/2 \rfloor + a}{\lfloor n/2 \rfloor + 1} \binom{\lfloor n/2 \rfloor + a - 1}{\lfloor n/2 \rfloor}, & n \text{ is odd;} \\ \frac{1}{2} \left( \binom{n+2a-1}{n} - \binom{n/2+a-1}{n/2} \right)^2, & n \text{ is even.} \end{cases}$$

*Proof.* Note that both sides of the desired identities can be viewed as polynomials in  $a$  of fixed degree if  $n$  is fixed. Thus, it suffices to show that the identities in the lemma hold under the assumption that  $a$  is any positive integer.

Suppose that  $a$  is a positive integer. It is known that the number of ways of placing  $n$  indistinguishable balls into  $2a$  distinguishable boxes equals  $\binom{n+2a-1}{n}$  (see [4, p. 15]). Now we divide the boxes into two classes: one class contains  $a$  boxes and each box is colored red, the other class consists of the remaining boxes which are colored blue. Then one distribution of  $n$  indistinguishable balls into  $2a$  distinguishable boxes can be obtained by placing  $k$  balls into one class of boxes and  $n-k$  balls into the other class of boxes. It follows that

$$\sum_{k=0}^n \binom{k+a-1}{k} \binom{n-k+a-1}{n-k} = \binom{n+2a-1}{n}. \quad (1)$$

Since the roles of the two colors are completely symmetric, when  $n$  is odd, we obtain the half sum

$$\begin{aligned} \sum_{k=0}^{\lfloor \frac{n-2}{2} \rfloor} \binom{k+a-1}{k} \binom{n-k+a-1}{n-k} &= \frac{1}{2} \left( \binom{n+2a-1}{n} - 2 \binom{\lfloor \frac{n}{2} \rfloor + a - 1}{\lfloor \frac{n}{2} \rfloor} \binom{\lfloor \frac{n}{2} \rfloor + a}{\lfloor \frac{n}{2} \rfloor + 1} \right) \\ &= \frac{1}{2} \binom{n+2a-1}{n} - \frac{\lfloor \frac{n}{2} \rfloor + a}{\lfloor \frac{n}{2} \rfloor + 1} \binom{\lfloor \frac{n}{2} \rfloor + a - 1}{\lfloor \frac{n}{2} \rfloor}. \end{aligned}$$

When  $n$  is even, the second required identity can be obtained in a similar way.  $\square$

We are now in a position to prove Theorem 1.

*The proof of Theorem 1.* Obviously,  $F(a) \equiv 0$  if  $x$  or  $y$  equals to 0.

Now assume that  $x$  and  $y$  are both positive. Set  $t = \frac{x}{y}$ . Then

$$F(a) = \frac{y^n}{\binom{n+2a-1}{n}} \sum_{k=0}^n \binom{k+a-1}{k} \binom{n-k+a-1}{n-k} t^k.$$

For  $n = 0, 1$ , it is clear that  $F(a)$  is a constant function.

For  $n \geq 2$ , assume that  $a_1, a_2$  be two positive numbers and  $a_2 > a_1$ . We will prove that  $F(a_1) > F(a_2)$  if  $t \neq 1$  and  $F(a_1) = F(a_2)$  if  $t = 1$ . Note that

$$F(a_1) - F(a_2) = \frac{y^n}{\binom{n+2a_1-1}{n} \binom{n+2a_2-1}{n}} G(t),$$

where we set  $G(t) = \sum_{k=0}^n A_k t^k$  with

$$\begin{aligned} A_k &= \binom{n+2a_2-1}{n} \binom{k+a_1-1}{k} \binom{n-k+a_1-1}{n-k} \\ &\quad - \binom{n+2a_1-1}{n} \binom{k+a_2-1}{k} \binom{n-k+a_2-1}{n-k}. \end{aligned}$$

In the rest of the proof, we regard  $t$  as an indeterminate. So  $F(a_1)$ ,  $F(a_2)$  and  $G(t)$  are three polynomials in  $t$ . Note that  $F(a_1)$  and  $F(a_2)$  are both symmetric with the same center due to the symmetry of the binomial sequence  $\left\{ \binom{k+a-1}{k} \binom{n-k+a-1}{n-k} \right\}_{k=0}^n$ . Then  $G(t)$  is symmetric since it is a linear combination of  $F(a_1)$  and  $F(a_2)$ .

In order to prove Theorem 1, it suffices to show respectively that  $(t-1)^2|G(t)$ , i.e.,  $G(t) = (t-1)^2H(t)$ , and that the coefficients of  $H(t)$  are all positive.

To show that  $(t-1)^2|G(t)$ , it suffices to prove  $G(1) = 0$  and  $G'(1) = 0$  respectively.

Indeed, it follows from (1) that

$$\begin{aligned}
 G(1) &= \sum_{k=0}^n A_k \\
 &= \binom{n+2a_2-1}{n} \sum_{k=0}^n \binom{k+a_1-1}{k} \binom{n-k+a_1-1}{n-k} \\
 &\quad - \binom{n+2a_1-1}{n} \sum_{k=0}^n \binom{k+a_2-1}{k} \binom{n-k+a_2-1}{n-k} \\
 &= \binom{n+2a_2-1}{n} \binom{n+2a_1-1}{n} - \binom{n+2a_1-1}{n} \binom{n+2a_2-1}{n} \\
 &= 0.
 \end{aligned}$$

Similarly,

$$\begin{aligned}
 G'(1) &= \sum_{k=1}^n kA_k \\
 &= \binom{n+2a_2-1}{n} \sum_{k=1}^n k \binom{k+a_1-1}{k} \binom{n-k+a_1-1}{n-k} \\
 &\quad - \binom{n+2a_1-1}{n} \sum_{k=1}^n k \binom{k+a_2-1}{k} \binom{n-k+a_2-1}{n-k} \\
 &= \binom{n+2a_2-1}{n} \sum_{k=1}^n a_1 \binom{k+a_1-1}{k-1} \binom{n-k+a_1-1}{n-k} \\
 &\quad - \binom{n+2a_1-1}{n} \sum_{k=1}^n a_2 \binom{k+a_2-1}{k-1} \binom{n-k+a_2-1}{n-k} \\
 &= a_1 \binom{n+2a_2-1}{n} \sum_{k=0}^{n-1} \binom{k+a_1}{k} \binom{n-k-1+a_1-1}{n-1-k} \\
 &\quad - a_2 \binom{n+2a_1-1}{n} \sum_{k=0}^{n-1} \binom{k+a_2}{k} \binom{n-1-k+a_2-1}{n-1-k} \\
 &= a_1 \binom{n+2a_2-1}{n} \binom{n+2a_1-1}{n-1} - a_2 \binom{n+2a_1-1}{n} \binom{n+2a_2-1}{n-1} \\
 &= 0.
 \end{aligned}$$

Thus,  $G(t) = (t-1)^2 H(t)$ . Moreover, since  $G(t)$  is symmetric,  $H(t)$  is also symmetric by Lemma 1.

For the positivity of the coefficients of  $H(t)$ , by Lemma 1, it suffices to prove  $\sum_{i=0}^k A_i > 0$  for  $0 \leq k \leq \lfloor (n-2)/2 \rfloor$ , which also yields the strict unimodality of  $H(t)$ .

Denote  $B_k = \sum_{i=0}^k A_i$  for brevity. We will prove respectively that  $B_0, B_{\lfloor (n-2)/2 \rfloor} > 0$  and that the sequence  $\{B_k\}_{1 \leq k \leq \lfloor (n-2)/2 \rfloor}$  is unimodal. Then each  $B_k > 0$ .

Note that

$$\begin{aligned} A_0 &= \binom{n+2a_2-1}{n} \binom{n+a_1-1}{n} - \binom{n+2a_1-1}{n} \binom{n+a_2-1}{n} \\ &= \frac{1}{n!^2} \left( \prod_{i=1}^n (n+2a_2-i)(n+a_1-i) - \prod_{i=1}^n (n+2a_1-i)(n+a_2-i) \right) \end{aligned}$$

and

$$(n+2a_2-i)(n+a_1-i) - (n+2a_1-i)(n+a_2-i) = (n-i)(a_2-a_1) \geq 0,$$

where the equality holds if and only if  $n = i$ . This implies that  $B_0 = A_0 > 0$ .

Now consider the positivity of  $B_{\lfloor (n-2)/2 \rfloor}$ . When  $n$  is even, by Lemma 2,

$$\begin{aligned} B_{\lfloor (n-2)/2 \rfloor} &= \binom{n+2a_2-1}{n} \cdot \frac{1}{2} \left( \binom{n+2a_1-1}{n} - \binom{\frac{n}{2}+a_1-1}{\frac{n}{2}} \right) \\ &\quad - \binom{n+2a_1-1}{n} \cdot \frac{1}{2} \left( \binom{n+2a_2-1}{n} - \binom{\frac{n}{2}+a_2-1}{\frac{n}{2}} \right) \\ &= \frac{1}{2} \left( \binom{n+2a_1-1}{n} \binom{\frac{n}{2}+a_2-1}{\frac{n}{2}} - \binom{n+2a_2-1}{n} \binom{\frac{n}{2}+a_1-1}{\frac{n}{2}} \right). \end{aligned}$$

Note that

$$\begin{aligned} &\binom{n+2a_1-1}{n} \binom{\frac{n}{2}+a_2-1}{\frac{n}{2}} - \binom{n+2a_2-1}{n} \binom{\frac{n}{2}+a_1-1}{\frac{n}{2}} \\ &= \frac{1}{n! (\frac{n}{2})!^2} \left[ \prod_{i=1}^n (n+2a_1-i) \prod_{i=1}^{n/2} \left( \frac{n}{2}+a_2-i \right)^2 - \prod_{i=1}^n (n+2a_2-i) \prod_{i=1}^{n/2} \left( \frac{n}{2}+a_1-i \right)^2 \right] \\ &= \frac{2^{\frac{n}{2}}}{n! (\frac{n}{2})!^2} \prod_{i=1}^{n/2} \left( \frac{n}{2}+a_1-i \right) \left( \frac{n}{2}+a_2-i \right) \\ &\quad \times \left[ \prod_{i=1}^{n/2} (n+2a_1-2i+1) \left( \frac{n}{2}+a_2-i \right) - \prod_{i=1}^{n/2} (n+2a_2-2i+1) \left( \frac{n}{2}+a_1-i \right) \right] \\ &> 0, \end{aligned}$$

which follows from that

$$(n+2a_1-2i+1) \left( \frac{n}{2}+a_2-i \right) - (n+2a_2-2i+1) \left( \frac{n}{2}+a_1-i \right) = a_2-a_1 > 0.$$

Hence  $B_{\lfloor (n-2)/2 \rfloor} > 0$ .

For odd  $n$ , by Lemma 2 again, we get

$$\begin{aligned}
B_{\lfloor (n-2)/2 \rfloor} &= \binom{n+2a_2-1}{n} \left( \frac{1}{2} \binom{n+2a_1-1}{n} - \frac{\lfloor \frac{n}{2} \rfloor + a_1}{\lfloor \frac{n}{2} \rfloor + 1} \binom{\lfloor \frac{n}{2} \rfloor + a_1 - 1}{\lfloor \frac{n}{2} \rfloor} \right)^2 \\
&\quad - \binom{n+2a_1-1}{n} \left( \frac{1}{2} \binom{n+2a_2-1}{n} - \frac{\lfloor \frac{n}{2} \rfloor + a_2}{\lfloor \frac{n}{2} \rfloor + 1} \binom{\lfloor \frac{n}{2} \rfloor + a_2 - 1}{\lfloor \frac{n}{2} \rfloor} \right)^2 \\
&= \frac{1}{\lfloor \frac{n}{2} \rfloor + 1} \left[ \left( \lfloor \frac{n}{2} \rfloor + a_2 \right) \binom{n+2a_1-1}{n} \left( \lfloor \frac{n}{2} \rfloor + a_2 - 1 \right)^2 \right. \\
&\quad \left. - \left( \lfloor \frac{n}{2} \rfloor + a_2 \right) \binom{n+2a_2-1}{n} \left( \lfloor \frac{n}{2} \rfloor + a_1 - 1 \right)^2 \right] \\
&= \frac{1}{(\lfloor \frac{n}{2} \rfloor + 1)n! \lfloor \frac{n}{2} \rfloor!^2} \left[ \left( \lfloor \frac{n}{2} \rfloor + a_2 \right) \prod_{i=1}^n (n+2a_1-i) \prod_{i=1}^{\lfloor n/2 \rfloor} \left( \lfloor \frac{n}{2} \rfloor + a_2 - i \right)^2 \right. \\
&\quad \left. - \left( \lfloor \frac{n}{2} \rfloor + a_1 \right) \prod_{i=1}^n (n+2a_2-i) \prod_{i=1}^{\lfloor n/2 \rfloor} \left( \lfloor \frac{n}{2} \rfloor + a_1 - i \right)^2 \right] \\
&= \frac{1}{(\lfloor \frac{n}{2} \rfloor + 1)n! \lfloor \frac{n}{2} \rfloor!^2} \cdot 2^{\lfloor n/2 \rfloor} \prod_{i=1}^{\lfloor n/2 \rfloor} \left( \lfloor \frac{n}{2} \rfloor + a_1 - i \right) \left( \lfloor \frac{n}{2} \rfloor + a_2 - i \right) \\
&\quad \times \left[ \left( \lfloor \frac{n}{2} \rfloor + a_2 \right) (n+2a_1-1) \prod_{i=1}^{\lfloor n/2 \rfloor} (n+2a_1-2i) \left( \lfloor \frac{n}{2} \rfloor + a_2 - i \right) \right. \\
&\quad \left. - \left( \lfloor \frac{n}{2} \rfloor + a_1 \right) (n+2a_2-1) \prod_{i=1}^{\lfloor n/2 \rfloor} (n+2a_2-2i) \left( \lfloor \frac{n}{2} \rfloor + a_1 - i \right) \right] \\
&> 0,
\end{aligned}$$

where the strict inequality follows from that

$$\begin{aligned}
&\left( \lfloor \frac{n}{2} \rfloor + a_2 \right) (n+2a_1-1) - \left( \lfloor \frac{n}{2} \rfloor + a_1 \right) (n+2a_2-1) = 2(a_2 - a_1) > 0, \\
&(n+2a_1-2i) \left( \lfloor \frac{n}{2} \rfloor + a_2 - i \right) - (n+2a_2-2i) \left( \lfloor \frac{n}{2} \rfloor + a_1 - i \right) = a_2 - a_1 > 0.
\end{aligned}$$

Now we will prove that  $\{B_k\}_{0 \leq k \leq \lfloor (n-2)/2 \rfloor}$  is unimodal. It is clearly true when  $n = 2, 3$ . Consider the cases when  $n \geq 4$ . Note that  $A_k = B_k - B_{k-1}$ . By the definition of unimodality, we will prove the unimodality of  $\{B_k\}_{0 \leq k \leq \lfloor (n-2)/2 \rfloor}$  by showing that the sequence  $\{A_k\}_{1 \leq k \leq \lfloor (n-2)/2 \rfloor}$  will not be positive afterwards once it is negative.

Set  $A_k = \alpha_k - \beta_k$ , where

$$\alpha_k = \binom{n+2a_2-1}{n} \binom{k+a_1-1}{k} \binom{n-k+a_1-1}{n-k},$$

$$\beta_k = \binom{n+2a_1-1}{n} \binom{k+a_2-1}{k} \binom{n-k+a_2-1}{n-k}.$$

Clearly,  $\beta_k > 0$  since  $n \geq k \geq 1$  and  $a_1, a_2 > 0$ .

To prove the desired change of the signs of  $\{A_k\}$ , it suffices to show a chain of inequalities: for  $1 \leq k \leq \lfloor \frac{n-2}{2} \rfloor - 1$ ,

$$\frac{A_{k+1}}{\beta_{k+1}} = \frac{\alpha_{k+1} - \beta_{k+1}}{\beta_{k+1}} < \frac{\alpha_k - \beta_k}{\beta_k} = \frac{A_k}{\beta_k}. \quad (2)$$

Indeed, the following equivalent form of (2)

$$\frac{\alpha_{k+1}}{\beta_{k+1}} < \frac{\alpha_k}{\beta_k}$$

is valid because

$$\frac{\alpha_{k+1}\beta_k}{\alpha_k\beta_{k+1}} = \frac{(k+a_1)(n-k+a_2-1)}{(k+a_2)(n-k+a_1-1)}$$

and

$$(k+a_1)(n-k+a_2-1) - (k+a_2)(n-k+a_1-1) = (n-2k+1)(a_1-a_2) < 0.$$

Thus, the sequence  $\{B_k\}_{0 \leq k \leq \lfloor (n-2)/2 \rfloor}$  is unimodal. The proof is completed.  $\square$

REMARK 1. In the proof of Theorem 1, we get a positive binomial sequence  $\{B_k\}_{0 \leq k \leq n-2}$ , where  $B_k = \sum_{i=0}^k A_i$ . Furthermore, by Lemma 1, there is another positive binomial sequence  $\{\sum_{i=0}^k (k+1-i)A_i\}_{k=0}^n$  which follows from the positivity of the coefficients of  $H(t)$ . It would be interesting to give combinatorial interpretations for these two positive binomial sequences.

REMARK 2. Bennett[1] revealed the connection between Schur's theorem and Haber's inequality. The original version of Haber's inequality [5] states that, if  $x, y \geq 0$  and  $n$  is a positive integer, then

$$\left(\frac{x+y}{2}\right)^n \leq \frac{x^n + x^{n-1}y + \cdots + xy^{n-1} + y^n}{n+1},$$

which is a special case of Schur's theorem with  $N = 2$ . Haber's inequality has been extensively developed. Its convexity version has been shown to connect with moment sequences (see [2]). As mentioned in [1], Conjecture 1 implies that when  $a \rightarrow \infty$ , Haber's inequality follows from the monotonicity of  $F(a)$ . When  $a \rightarrow 0$ ,

$$\frac{x^n + x^{n-1}y + \cdots + y^n}{n+1} \leq \frac{x^n + y^n}{2},$$

which is an inequality complementary to Haber's inequality. So the extension of Haber's inequality by Theorem 1 would be expected to be developed further.

*Acknowledgements.* The author thanks Professor Y. Wang and Professor L. L. Liu for their helpful discussions.

## REFERENCES

- [1] G. BENNETT, *Hausdorff means and moment sequences*, Positivity, **15** (2011) 17–48.
- [2] G. BENNETT, *Mercer's inequality and totally monotonic sequences*, Math. Ineq. & Appl. **14** (2011) 747–775.
- [3] F. BRENTI, *Log-concave and unimodal sequences in algebra, combinatorics, and geometry: an update*, Contemp. Math. **178** (1994) 71–89.
- [4] L. COMTET, *Advanced Combinatorics*, Reidel, Dordrecht, 1974.
- [5] S. HABER, *An elementary inequality*, Int. J. Math. Math. Sci. **2** (1979) 531–535.
- [6] G. H. HARDY, J. E. LITTLEWOOD, G. PÓLYA, *Inequalities*, Cambridge University Press, Cambridge, 1952.
- [7] H. Y. L. LIANG, L. MU, Y. WANG, *Catalan-like numbers and Stieltjes moment sequences*, Discrete Math. **339** (2016) 484–488.
- [8] A. D. MERCER, *A note on a paper by S. Haber*, Int. J. Math. Math. Sci. **6** (1983) 609–611.
- [9] I. PAK, G. PANOVA, *Strict unimodality of  $q$ -binomial coefficients*, C. R. Acad. Sci. Paris, Ser. I, **351** (2013) 415–418. A corrigendum at: [www.math.ucla.edu/~pak/papers/StrictCR.pdf](http://www.math.ucla.edu/~pak/papers/StrictCR.pdf).
- [10] J. A. SHOHAT, J. D. TAMARKIN, *The Problem of Moments*, Amer. Math. Soc., New York, 1943.
- [11] R. P. STANLEY, *Log-concave and unimodal sequences in algebra, combinatorics and geometry*, Ann. New York Acad. Sci. **576** (1989) 500–534.
- [12] X.-T. SU, Y. WANG, *On unimodality problems in Pascal's triangle*, Electron. J. Combin. **15** (2008), Research Paper 113, 12 pp.
- [13] X.-T. SU, Y. WANG, *Proof of a conjecture of Lundow and Rosengren on the bimodality of  $p, q$ -binomial coefficients*, J. Math. Anal. Appl. **391** (2012) 653–656.
- [14] H. SUN, Y. WANG, H.-X. ZHANG, *Polynomials with palindromic and unimodal coefficients*, Acta Math. Sinica. **31** (2015) 565–575.
- [15] Y. WANG, B.-X. ZHU, *Log-convex and Stieltjes moment sequences*, Adv. in Appl. Math. **81** (2016) 115–127.
- [16] D. V. WIDDER, *The Laplace Transform*, Princeton University Press, Princeton, 1946.
- [17] F. ZANELLO, *Zeilberger's KOH theorem and the strict unimodality of  $q$ -binomial coefficients*, Proc. Amer. Math. Soc. **143** (2015) 2795–2799.

(Received March 16, 2017)

Xun-Tuan Su  
 College of Management  
 Qufu Normal University  
 Rizhao 276800, China  
 e-mail: [xtsu@mail.qfnu.edu.cn](mailto:xtsu@mail.qfnu.edu.cn)